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SIVI OLCME
¥ Asagidaki cevirmeleri istenilen birime gére 6rnekteki gibi yapalim.
2L 450 mL=..2420 L 6L 395 ml= oo ml_
2000 + 450 =2450mL | | e,
SL 603 mb=................ mL 10L 820 mb= .................. mL
L S54ml=................. mL 4L A3 mb= ..l mL
8L 179 mb=.................. mL 16 L 65mb=.................. mL
20L 80 mb=.................. mL 34L 902 mL= ................. mL
3L 395 mb= ... mL 15L 47 mb=.................. mL
26 L 264 mb=.................. mL 39L 620 ml= .................. mL
47 L 805 mb= ...l mL 60L Zmb=................. mL
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